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EXERCISE 1b: VARIATION
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EXERCISE 3: SEXTUPLETS
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EXERCISE 4: Example

etc. ]{/\
M \ M A
. S S S A
1 [ |
f
Am Arp smooth pent broken
- - - - 7 8 7 15 10 12 10—
A% 10— 9 7 -
B 4 y—

L ]
o

broken .
smooth smooth Resolve GMaj

2 & 2
%) w} =

g, 2
) &
5 A -,
) 1 /

N
A
k1l 0
¥ D7 broken L— L‘__lf 7#11
A
B




EXERCISE 4:

etc.
™ v ™ v E
®-
A ==F ]l o 7,._ 15 E ]g
% [ J w | | 1
&) # e
A\3V4 b1y
Q kLl
6
Am
7 8 7 15 0 12 0
T A . 5 7 3
_B_4. 1 0 7 -~
M VY MmooV
o) e o o
)’ i | | | N
(7 ! ; ! '_P—P_—P_P—P I T P
HO)— ———— . i i I 1 o ] ! <
D) 7 ——— K
D T#11
GMaj
—T—7 3 5 3 P 3
A S 7 S e 7
D o s, . A
B 5 2 e

¢c2024 Clifford Martin jazzimproviser.com




